Complete parts a—c for each quadratic function.

a. Find the y-intercept, the equation of the axis of
symmetry, and the x-coordinate of the vertex.

b. Make a table of values that includes the vertex.
¢. Use this information to graph the function.
1L fx)=x2+4x—7 1-3. See Chapter 4

15. The rectangle below has an area of 104 square
inches. Find the value of x and the dimensions of
the rectangle. X =9; 8 inches by 13 inches

A=104in?

x+4

2. fx) = —24 + 5x Answer Appendix.

3 flx)=—a>—6x—9
Simplify.

D‘eh?rmme whether each f-unch_on has a maximum or 18. 3—4i)— (9—5i) =B+
minimum value. State the maximum or minimum . 4 16

value of each functon. 17. % -7 + ﬁ’

i
4. f(x) =x*+ 10x + 25 5. f(x) = —x” + 6x
min.; 0 max.; 9
Solve each equation using the method of your choice.
Find exact solutions.

18. MULTIPLE CHOICE Which value of ¢ makes the
trinomial 2 — 12x + ¢ a perfect square trinomial? H

6. 22— 8x—9=0—1,9 ki

7. 4822+ 16x+24=0 %W =

8. 12x2+15x—4=0 #;/ﬁ H 36

9. x2-7x-¥=oﬂ J 144
10. 42 +x=3 —1,%
1. —9x2 +40x+84 =0 ;;‘ 6 Complete parts a—c for each quadratic equation.

iand PN EAEIFS . o 2.
Practice Test

1a. y-intercept : —7; axis of symmetry: x = —2;

x-coordinate of vertex: —2
coordinate ¢ 2a. y-intercept: 0; axis of symmetry: x = =; x-coordinate of vertex: >

4 4
tlelie
-4 | -7
3 | —10 :] . 3a. y-intercept : —9; axis of symmetry: x = —3; x-coordinate of
3 vertex: —3
-2 | -1 5 25
4 8
=1 | =10 > 5 3b. _ | f(x) 3c. ] flx)
0 —F 3 -3 -5 —4 g
e | =i fle) = —x?—6x—9 |
2c. f(x) [ ]
1c' f{'.') _Aﬂ = :X]|_| ‘1 | = 0 —8—6—(_\0 2 46
12 ' : flor) = —2x* + 5x 9 1 T\
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12,

13.

14,

—9x2 4 40x + 84 = 0—1—4 6

PHYSICAL SCIENCE Parker throws a ball off the top of
a building. The building is 350 feet high and the
initial velocity of the ball is 30 feet per second. Find
out how long it will take the ball to hit the ground
by solving the equation —16t> — 30f + = 0.
ahnut 3 83 seconds
MULTIPLE CHDICE Which equation below has roots

at —6 and —'? C

A 0 =5x2 ~—29x-6
B 0=5x2+31x+6
C 0=5x>+29x — 6

D 0=5x"—-31x+6

14a. about 1.4 seconds and 5.6 seconds

PHYSICS A ball is thrown into the air vertically with
a velocity of 112 feet per second. The ball was
released 6 feet above the ground. The height above
the ground t seconds after release is modeled by
h(f) = —16t% + 112t + 6.

a. When will the ball reach 130 feet? b. See margin.

Complete parts a—c for each quadratic equation.

a. Find the value of the discriminant.
b. Describe the number and type of roots.

¢. Find the exact solution by using the Quadratic
Formula. 19-21. See margin.

19. 6x2+7x =0
20. 5x2=—6x+1
A, 2x2+5x—8=-13

Write each quadratic function in vertex form. Then
identify the vertex, axis of symmetry, and direction
of opening. 22-24. See Chapter 4 Answer Appendix.

22, 3x% + 6x = 2 +y
23. 2+ 9x + — =y
24. Graph the quadratic inequality 0 < —3x2 + 4x + 1

Solve each inequality by using a graph or

algebraically. 19a. 49
b. Will the ball ever reach 250 feet? Explain. 25, 2 5 1 !
¢. In how many seconds after its release will the  ® b >—b 3 x<3_ rx=—1 19b. 2 rational roots
ball hit the ground? about 7 seconds 26. 4x2 —19x < —12 {xl 75%s 4 19¢. -7 0
- T
22. y=3(x+ 1) — 5; vertex: (—1, —5); axis of symmetry: 20a. 56
X=—1; opere g 20b. 2 irrational roots
2. y= (x g) vertex: ( g, 0); axis of symmetry: x = —%; 20c. -3 iﬁ\/ﬁ
opens up 21a. —15
24, (e 117 21b. 2 complex roots
S 1100 = —3x2 + 4x+10 | 21c. _5% il
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